Combined Graduate Level Examination Tier | 2022
Roll Number www.govtjobsalert.in
Candidate Name| www.govtjobsalert.in
Venue Name Indian Institute Of Computer Education - CENTER 2

Exam Date 08/12/2022
|[Exam Time 2:30 PM - 3:30 PM
ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q.1 ©w fAfda e utar A, "ABASE’ #1 'ZEZVD' ¥ =U ® Heas fHar T § SR 'BANDS' H1
'EZQGV' & &1 | Heas far wirar 81 3 uTer & 'CABIN' %1 fhd YR geds fFan

STgm?
Ans X 1.FDELQ

X 2. FZYLK
« 3. FZEHQ
X 4.FAEIQ

Question ID : 26433067339
Status : Answered
Chosen Option : 3

Q.2 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of

consonants/vowels in the word)
Cells : Tissue :: Organs : ?

Ans X 1.Kidney
o 2. Body
< 3. Heart

& 4. Lungs

Question ID : 26433067808
Status : Answered
Chosen Option : 2

Q3 uw Aidage HTHT #, ‘come home soon' @1 '444' & =7 ﬁ:Wﬁ?ﬂTﬂ'ﬁT%, ‘are you
coming' B '336' ¥ TU W Hedg [T oTaT € 3R ‘raining badly outside’ ®1 '757' & &Y
T pea forar wrar 81 I U H, kids are Happy’ Y {6 UPR e aT SITgm?

Ans X 1.534
o 2. 435
X< 3.345
< 4.543

Question ID : 26433067772
Status : Answered
Chosen Option : 2




Q4 IR eR-TvE Ay 7 ¥ fd | @ fredt 7 fredt ave A vawar § okt e B
I SR HER-TYE FT 997 Biog|
Ans X 1.WTQ
« 2. GEB
X 3.MJG

X 4.0L

Question ID : 26433068506
Status : Answered
Chosen Option : 2

as o & @ FiF @ 7= & T e F wARET (?) F T W HO?

LKC KMD ? IQF HSG
Ans 7 1. JOE

X< 2.10J

& 3.10E

&< 4.JOP

Question ID : 26433085329
Status : Answered
Chosen Option : 1

as e ampf-y@er & I W@ F v s7d wea-fed () F ' W

Hla dr fhed ampia e =g
T N A N
A 0O ZIA T Alo a TlE A o ?
N 0 N A
Ans £

Question ID : 26433076660
Status : Answered
Chosen Option : 1




Q.7 T L 3 Rl #) U § WER geoq W FufifEd & & s a1 weiiewo w8 ghm?
x dYT —

Ans X 1.16-4+2+8x1=36
K 2.7x9-8+2+6=25
K 3.5+7x3-4+2=8
@ 4.8x6-9+3+10=0

Question ID : 264330105118
Status : Answered
Chosen Option : 4

Qs ﬁmﬁﬁwwmmaﬂﬁqﬁmﬁaﬂéw@mﬁ%%ﬁaaﬁmé S HEY
R fow 7T T @Y Sensi & SR
(FYe: 3! Wil R HIS o Tithur 3% uew sl # fyufira fee faer, qof wwemasit
WE B )
(2, 4, 18)
(1,9, 50)

Ans X 1.(5,4,18)
X 2.(2,5, 49)
X 3.(6,4,10)
" 4. (3,5, 32)

Question ID : 26433069237
Status : Not Answered
Chosen Option : --

Q9 F+MBHTISE‘F,MBTUT @
F+MPTAf g FEMBIERY
F-MPT3f 8 F mPpTRAaT @
FxMPTI g F MBI AT R
Ffeu+VvxK-BE dl U, B fd UpR Hefia g2

Ans X 1. fOar
«” 2.alal
X 3.
X 4.ad

Question ID : 26433068071
Status : Answered
Chosen Option : 2

Q.10 39 BT T B o ey o § St v wafta § o wer fafafaa
S e & et 21
(Fite: TEmsil Bt TS gew ! | fyutima farg famm, gof wemsit w nfordg wfeang #t
ST T1RT | ITeR0T & Y 13 - Kty Aferant 9 % wisAae AN $3-1 3afs 13
T forar o1 wrar 81 13 BT 1 30 3 & v w1 3R 67 1 3R 3 W wifvrdia wfdrang
HA DI A T 1)

(5,35,7)
(8’ 32! 4)

Ans X 1.(4,30,7)
X 2.(11,56,5)
 3.(3,27,9)
X 4.(9,38,4)

Question ID : 26433070241
Status : Answered
Chosen Option : 3




Q.11 TR REl % 39 I8 WaeH &1 999 39, e * gl & /A R Bt T d @ o e
IR fean mar afievr wgfera gt s

59*12*6*24*2*105
Ans 1. - 5 4 % =
K2 -+ +=
K3x, -+ % =
KA+ x4 - =

Question ID : 26433068683
Status : Answered
Chosen Option : 1

Q.12 fafafed & & $i9 a1 sigR-uyg & 1E ae ® vylug (7) $ ®~FE W e
EGJM, GFLN, IENO, ?, MCRQ

Ans 7 1. KDPP
X 2. KPDD
X 3. KPDK
X 4. KPDP

Question ID : 26433065949
Status : Answered
Chosen Option : 1




Q13 oor 3t R 'AB' W TR B, R e R & e o wh ador sfafe @ oawe w
A

B

Ans

;
;
5

Question ID : 26433057948

Status : Answered

Chosen Option : 3




Y gtor @ o R & AR M 9T T @, R e g & a A
T 9uT wiafew &1 =ae Fi
M
pm94h
N
Ans X1 P1?6md
x2h4emgqg
xXshbCuwqg

veardph@mg

Question ID : 26433068206
Status : Answered
Chosen Option : 4

Q.15 I fymeq o1 797 PR i fE 1T Tt & 39 Wt 9 &1 i sxar g S sa d 3
ST P H 31 7
1- Empress
2- Employee
3- Empty
4- Emporium
5- Employer

Ans X 1.52,4.1,3
& 2.2,541,3
X 3.2,51,4,3
X 4.521,4,3

Question ID : 26433079442
Status : Answered
Chosen Option : 2

Q.16 I WYTT BT T BHOTE o =Y 1o | I UovR Haiflra § fory v Fafarfea
HY=A B GBI 10 A A &)
(99, 199, 1199)
(15, 115, 1115)

aﬁmmmﬁﬁmﬁamﬁm gof wemeit w iR dfrarg #t

aﬁiaﬂ%mm%ﬁmn T TfFang S for SSI/aeHIAeN ST e 13
T {3 oI werar 21 13 B 1 30R 3 F fyunira &= ok e 1 3R 3 W nifvredig wfhamg
H B agAfa T8

Ans X 1.(77, 717, 7117)
X 2.(22, 222, 2222)
« 3.(33,133,1133)
2 4. (11, 111, 1000)

Question ID : 26433087186
Status : Answered
Chosen Option : 3




Q17 v & O $7 I afdes Ryl weitia & 1 T &= T e
F 9T vow W Fa-dr gEmm 32

P

Figure 1 Figure 2 Figure 3

Ans X 1.3
& 2.6
X 3.2
X a4

Question ID : 26433069065
Status : Answered
Chosen Option : 2

Q.18 133 A Hy SR eyl ot eyd® U | 98 9 gU fb wy= A & Wit SR wEt B,
Y& € a8 I U | 79 at | B wedia gt 8, fHofa 3% fr e e e 7 @
PI-ATR frepd HyA(ET) BT aIfb® U F SRV HRArHIA 2R |
DY
$0 P W g
PIS We FIpT T8 81
T ST @e §1
e

. TO BRI & ST g Pt TUTET 2|
I1. BIS S WIHT L 2l

1. 9 @e I §

IV. g B2 TeT T8 81

Ans X 1. %ad (B |, 11 3R 1V 38R0 B §
X 2. Haa (B | 3R Bl §
& 3. $ad FIsBY | 3R 11 SFERULBA &
X 4. Pad sy || 3R 111 SFTERY B §

Question ID : 26433070348
Status : Answered
Chosen Option : 3

Q19 FREA:BHT ISP A BHTHE R, AxBHTASSfF A BH TGI8, A-BHT A
f;?A, B &1 e &, o) Frafefaa # @ 19 a1 aisie g8 e fud e 8, & p, R &1 fiar
?

Ans X 1.P-Q=+R
« 2.P-QxR
K 3.PxQ-R
X4P:QxP

Question ID : 264330105005
Status : Answered
Chosen Option : 1




Q.20 Fgfifaa # @ o1 & T < 1€ 3oft § uafg (2) F ™A w e

37, 39, ?, 242, 970, 4852
Ans 7 1.80

X 2.160
< 3.122
X 4.108

Question ID : 26433068965
Status : Answered
Chosen Option : 1

Q.21 I G-I BT T B St A1 AT 7Y Wsg-g0 H e frT T WY & [HH "aY &1
Tl &1 | FAREUr ST ¥ (Wsgi B 31 qul Rsgl & =T F 7F1 ST AT 3R 37
g H &R BT YWY ol P &N TR ST YWAT 31 F YR W TP g A a5
8} fpan ST =nfe )
ARG : A

Ans X 1.%31?:%}[

X 2. fafec® : 3an
@B.W:ﬁﬁ?
X 4. T : gaTS SRS

Question ID : 26433065977
Status : Answered
Chosen Option : 3

Q.22 3 3T T Uy § T FYF R I7F 91 I HYH! R 1T $o fpd fog 7w 71 faw
T HYAT B TE M, WA € ITH FTaa: Jid g @ R g1 3 ey ue ik e
Fruifea =¥ & 19 @ freed, T ¢ ST &1 aifhs w0 & SrERu Hd 81

DY

L.PEP, QTSI
n.gW B, Q gl
foree:

|.aﬁ§b,3=|t,‘1'%|
I. 5 Q, P TR EI
IIl. $S B, Q&I &1
Ans X 1. %ad IS | 3ER0 R &
X 2. ®1E 1t P SraRul e Rl &
& 3.1 TUT 11 ST Fshy SR §

2 4.1 TUT 11 Y ISy SFRRUT vl §

Question ID : 264330104943
Status : Answered
Chosen Option : 1

Q.23 9 fau v uy ®, IR = g 3w e ¥ 1 ule g # (<) & 9l 3R € g W (<) &
rfY 3R &Y 7S Wiem @ Pt adb/fFraniEy @ et 31 619 3 330 v adb/famRidey
F YR W FAHE 7| AT ¢ faseat & @ faww &1 g (e §: s ot 376 s
3t & fywnfora g famm, gof Semsit w difesart fAonfea 9 st arfe) Sqrewor 13- -
13 TR HiHATE 519 5 13 § SISAAEHIATON 371 1S fpar ST wepar 31 13 B 1 3R 3
e 3R fihR 1 3R 3 R Ifvri wipard ®3A Ft srgafa T8 @)

Ans X 1.4-14
o 2. 14192
X 3.12-142
X 4.8-62

Question ID : 264330105056
Status : Answered
Chosen Option : 2




Q.24 3w T g} gl @) 3muw § wWER 9 R Frafaf@a § @ o a1 adftevor ad g
+d4T +
Ans X 1.12+8x3+6-10=8
X 2.18+24-6x6+3=32
o 3.7+21x42+14-9=19
X 4.12-8+12x9+3=10

Question ID : 264330105114
Status : Answered
Chosen Option : 3

Q25 =g ampfar &1 90 Y S o sEfa-gEer F T T uT e
* e E:]@ ral

r = d ?

Ans : il

& 1.

H

x 2

Question ID : 26433057523
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 Identify an example of organisms that do NOT belong to the third trophic level.
Ans X 1. Wolves

/< 2. Birds
/< 3. Fishes
«” 4. Cows

Question ID : 26433087875
Status : Answered
Chosen Option : 2




Q.2 Identify the statement that is NOT true about ATP.

Ans X 1.nerve impulse propagation
«” 2. Secretion of enzymes
5 3. Protein synthesis

< 4. Contraction of muscles

Question ID : 26433066669
Status : Not Answered
Chosen Option : --

Q.3 'G'¥ HF P Wi Fud gR1 I 1E?
Ans X 1. 5ol

X 2. 3TEV® e

« 3. 38 Fafew

X 4. WSS BRI

Question ID : 26433086737
Status : Answered
Chosen Option : 2

Q.4 el § ¥ -1 TR 99 93 & 9 b R AR TR & T # el gane
Ans X' 1. 3GHGTRR

X 2. 3SR

X 3. 3EHCETE

4. e

Question ID : 264330105443
Status : Not Answered
Chosen Option : --

Q.5 3iEifie e Teed 1956, T B frat AT & figa Hear @2
Ans X 1.4

X 25

& 3.3

X 4.6

Question ID : 26433065437
Status : Not Answered
Chosen Option : --

Q.6 Tisa T A, S UM P 8, Fyg@Iae_ A R@EI
Ans 1. gleR Oet

X 2. P

X 3. ey ardt

X 4. <9q 91t

Question ID : 264330105508
Status : Not Answered
Chosen Option : --




Q.7 I AT Tl BT BT I Fa13¢ oy 1968 H ol iy weep R feam mam am
Ans X 1. S ORI eRImaH

X 2. faf Rig

o 3. SOl St ersaa

2 4. Qa1 AR

Question ID : 26433082131
Status : Not Answered
Chosen Option : --

Q.8 fFg YR WiaeR A fiexdgy & Aeven e budedt ¥ fay Wit um &
PAAD %P F &9 H H fHar g
Ans X 1. I ATTER
2. TRuNTE IRRE
X 3. e g
X 4. i SRS

Question ID : 26433054847
Status : Not Answered
Chosen Option : --

Q.9 153 U3 UHIMSTH (FIH) 1! a6 HY BT Sraler foy oy ¥ farar simem?
Ans X 1.2025%

 2.2023 1

X 3.2022H

X 4.2024 1

Question ID : 26433071558
Status : Answered
Chosen Option : 2

Q.10 it & Hedelt & R die Wy Fafiiee & F 5w T e J wdfta 32
Ans X' 1. IhHaWd

F QRS CI]

X 3. PHRTE

4. T fgdi

Question ID : 264330105202
Status : Answered
Chosen Option : 4

Q.11 |Ya Y TR0 STHH 7 PR P ATY IS A TR A o1 wwd
FRA ¥ 1Y T AT 0 W gwaeR e #

Ans 1 HERIY
X 2.9
< 3. ORI
X 4. Fdcd

Question ID : 264330105281
Status : Answered
Chosen Option : 2




Q.12 3Rt (Icc ) ufee fhde fay Hu 2022 Ff smAforE gam 412
Ans X 1 e H

2. Tollds o

X 3. sfreferan

X 4 uRad

Question ID : 26433071549
Status : Answered
Chosen Option : 2

Q13 g@meﬁﬁm%@auﬁ'wm%mﬁyﬁﬁmwmm%mm
?

Ans X 1.7
& 2.
X 3.§q
X 43¢

Question ID : 264330105603
Status : Answered
Chosen Option : 2

Q.14 Which of the following organisations of the Government of India has been reporting
the GDP at factor cost and at market prices?

Ans X 1.NITI Aayog
«” 2. Central Statistics Office
/< 3. National Sample Survey Organisation
< 4. Reserve Bank of India

Question ID : 264330105392
Status : Answered
Chosen Option : 3

Q.15 Tifufvug & HHE $ de Tl B RIYFR S Tel Sl ga T F % A siftw
T8t gt
Ans X 1.20
X 2.10
X 3.12

& 4.15

Question ID : 26433064851
Status : Answered
Chosen Option : 4

Q.16 Ui W TRIGHSTH S F A M I Srar 81
Ans X 1 fREQd

X 2. PrEsHAd

X 3.mgd

& 4.5

Question ID : 264330105659
Status : Answered
Chosen Option : 3




Q.17 ! S} THT, TP YeaTelt Wividpdl, f HRA & @i ani i @s
Ans X 1.1488

o 2. 1498
X 3.1518
X 4.1508

=k

Question ID : 264330105551
Status : Answered
Chosen Option : 2

Q.18 JWT YADR URAIT 59 HERTE Pt TH TG §
Ans 1 qrauil

X 2.
X 3. gar
2 4. =N

Question ID : 26433064306
Status : Answered
Chosen Option : 1

Q.19 TR gl Tt 1 il ) Iyt & e e
Ans X 1.1192 3R 1225

% 2. 1165 3R 1198
X 3. 1226 3R 1290
4. 1206 3R 1290

Question ID : 264330105422
Status : Answered
Chosen Option : 4

Q.20 Among the following, which contains the lowest amount of sugar?
Ans X 1.Mango

/< 2. Banana

5 3. Apple
«” 4. Potato

Question ID : 26433064433
Status : Answered
Chosen Option : 4

Q.21 FafafEa § A o4 GfR-Hega Trda T A w1t ufaues TE 82
Ans 2 1. Tclen S

X 2. SuYT B

X 3. g o=

X 4.

Question ID : 26433082132
Status : Not Answered
Chosen Option : --




Q.22 yiivaie® <amaray (&Rie) Rdaes 18 Tars, 2022 ©F dreaur & U= forar mar at1 39
Sifufay & agq, el Tsal d 3 59 3T 3 uReR el $t == 31 82

Ans X 1. 3UMEA U
X 2. o
X 3. oI
4. TRaraa wew

Question ID : 264330105231
Status : Not Answered
Chosen Option : --

Q.23 ;‘T%zozzﬁ,hwﬁ B gur TR wratay § ve Fewe & w0 | frgad
[

Ans X 1.3 UER
o 2. YRz
X 3. o guf
X 4. 7ure faga

Question ID : 264330105328
Status : Answered
Chosen Option : 2

Q.24 The core of earth is made up of
Ans X 1.iron and cobalt

«” 2. nickel and iron
2 3. nickel and magnesium

/< 4. cobalt and nickel

Question ID : 26433066511
Status : Answered
Chosen Option : 3

Q.25 YRd & Gy F g Wi § Aifere i) &1 Iwoa 872
Ans X 1. 4TIV

X 2. "MV
2 3. U IX
& 4. T

Question ID : 26433086799
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

al a2=b2+(ab)2ffa3ﬂ¢b$m¢ﬁvaﬂ;r—mﬁw3qgw%?

Ans X 1.a=sinx,b=tanx
o 2.a=cotx,b=cosx
K 3.a=cosx,b=tanx

X 4.a=sinx,b=cotx

Question ID : 26433061627
Status : Answered
Chosen Option : 2




Q.2 =t 17, 272 SR 19 &1 agufgurdt 310 S
Ans X 1.332

X 2.403
& 3.304
X 4.323

Question ID : 26433065085
Status : Answered
Chosen Option : 3

Q.3 us fifda i 20 auf A o8 141 € St S AR B 5 T A A b THE W @2
TP A § HIYRUT TSl 1 JHH &L A 9 |

Ans 1 169Y
X 2.16 ¥ 8 A
X 3.15Td
X 4. 15a 8 WEH

Question ID : 26433075916
Status : Answered
Chosen Option : 1

Q4 frmr o ¢ 7 s BT #h A R v w9 w7 3 AR

g yRan & AW 9 & 9 & g

ad 2021

“emEma T Cwnm swd skt e

wrEe AR JEARSE WA 9 ST 1 HAT Wed S W Al arel cad & feaer gfaee 87
AnS X 1. 200%

v 2 60%

X3 20%

X4 30%

Question ID : 26433087402
Status : Answered
Chosen Option : 3

Q.5 Tgd af # SR IR P UGSt A6 P PRI TP e B AT 5% HH 81 T8 | 30T
i g AET P PIRUI gg SMaTe! fh A 5% H1 g1 T3 3R Y a9 & Ug Sardl 5% 9
T TR 9 F o o 3mardY 9,47,625 1 ugd af Ft ywana A smard) fparh A2

Ans X 1.7,00,000
« 2.10,00,000
X 3.992519
X 4.897,993

Question ID : 26433066182
Status : Answered
Chosen Option : 2




Q.6 In aAABC, AD, BE and CF are the medians from vertices A, B and C, respectively. The
point of intersection of AD, BE and CF is called

Ans X 1.orthocentre
” 2. centroid
25 3. median point
< 4.incentre

Question ID : 26433075866
Status : Answered
Chosen Option : 2

Q.7 A hollow sphere has an outer radius of 6 cm and inner radius of 3 cm. What is the
volume of this hollow sphere?

Ans X 1. 144p cm®
< 2.356p cm3
o 3.252p cm3
X 4.175p cm?3

Question ID : 264330105875
Status : Answered
Chosen Option: 3

Q.8 TP GHFGR 3T aG P 10% B Y& U F° BT qTaT Bl ¢, AP 98 (Ut avg W
uﬁm%qmﬁzo%aﬁq@w&?mm%lmmﬂm gl

Ans X 1.12%
X 2.18%
& 3.8%
X 4.16%

Question ID : 26433075153
Status : Answered
Chosen Option : 3

Q.9 e fAf¥a W & 7 SiteT wirar § SR A S 5 | 7N faar wirar @1 R uEea # 3
faufora fsar SiTar 8 iR 4 3 urTee B | geran wrar g1 afe ufvome 16 st R, 9 g@
T T 8?

Ans X 1.1

X 24
X 3.3
4.5

Question ID : 26433063765
Status : Answered
Chosen Option : 4

Q.10 TP B & 3P 45 F VI W I I 65 Fof B QT MY | FHP BRUI H&T & 3 3fh o
BRIV I pardASEH ST R

Ans 7 1.60
X 2.30
< 3.40
X 4.20

Question ID : 26433072995
Status : Answered
Chosen Option : 1




Q.11 2
1+cos™x
Tlﬁsecx—cosx=4%,?ﬁ g WHHWE?ITIT?
CosX

Ans x 1 \E
K 2.9/4

" 3. 2,\6

K 4.1/4

Question ID : 264330105900
Status : Not Answered
Chosen Option : --

Q.12 Hifgd A TP A Rs.1,260 & T 3R P FW B T T & HRUT ST 3§
Rs.1,197 & 39 T | 39T g1f+ ufe=a 71 872

Ans X 1.4%
X 2.6%
& 3.5%
X 4. 7%

Question ID : 26433066358
Status : Answered
Chosen Option : 3

Q.13 Find the total surface area of a cube whose volume is 343 m3.

AnS X1 210 m?
X2 186 m?
v 3 204 m?

K4 196 m?

Question ID : 26433063911
Status : Answered
Chosen Option : 3

Q.14 TH JA P FAISAT5 cm 81 59 Jod & $5 ¥ 10 cm D1 gl R Rya o g | 59 W Wi 78
T} ¥ B AATE B IAET B

Ans %1 Schm
X2 S\FZ cm

& 3 5\[§cm
x4 5cm

Question ID : 26433066390
Status : Answered
Chosen Option : 1




Q.15 4.08 3 6.63 BT HETH TATIGIS (HCF) T B

Ans

< 1.0.50
2 2.053
7 3.052
 4.0.51

Question ID : 26433080078
Status : Answered
Chosen Option : 4

M afabe=s .

Ans

o 1.
X2

X 3.
X 4. (a'—b—:

1

;

1

1+a+b™t

1+b+5ct

[+ 1
1+—+a?t
5

)WWW%I

Question ID : 26433075785
Status : Not Answered
Chosen Option : --

Q.17

Ans

e arv Trw i St & eaae fifav it PR va &1 38t &R

T§ 1998 H =Tt A FwwEw ¥ el Rfeew vt F anwE

few arv g3t &1 Ha SEEEa = 32760000

o=

foRT 3T AmTET & IFER FEEE 3T

forr

HIBTLAT

Higern

BT

Crcary

LU WeIr

HET 92

==

anar

R

FAT T

N =N =~

IRe=E

2

b
mmmmmmma

AN O0 W] =W

O |N | PR (WP = N

3OS So T # Afgemat fr FEm @ 3w wowr & Aot fr o ¥

ﬁqmwzm‘
X1 21:50
X2 16:25

<3 50:21
4 25:16

Question ID : 26433086279
Status : Not Answered
Chosen Option : --




Q.18 fufufed dee o1 UHEvs J1d o
p3+27

M i (p+3) (PP~ 3p + 9)
X2 (p-3)(p*-3p +9)
X3 (p + 3) (p* - 3p - 9)
X+ (p+3)(p°+3p+9

Question ID : 26433091628
Status : Answered
Chosen Option : 1

Q.19 9 &t 7€ arfereT uia Hufal F1 I5F 3R R P 3k P gxiidl 1

FIAT | EFR | FX
P | 200 | 1200
Q 100 | 300
R | 500 | 700
S 600 | 1000
T 800 | 800

J1 =P P, Q 9YUT R &1 915 &1 3ird faspt
J2 =BUIR, S IUT T B PR &1 34 fael|
(J1:J2) BTAF AT R?

Ans X 1.7:24
& 2.8:25
5 3.25:8
X 4.24:1

Question ID : 264330105742
Status : Answered
Chosen Option : 2

Q.20 Tfd T YT &S BT (x - 6) F&M, (x + 26) FE7ht qur 8x M &, AN 2x FTAOFA AN R
Ans X 1.48fh

o 2. 321

X 3. 16 &l

X 4. 12fsh

Question ID : 264330105816
Status : Answered
Chosen Option : 2

Q.21 500 m I TH ILHI SIS H, A, BHI 50 m A ST IHAT ¢ 3R 600 m PI SIS H, B, CHI 60 m
YT IPAT 21 400 m P A8 H A, ¢ B fpam Hiex A gwwmm?

Ans X 1.72
X 2.70
& 3.76
X 4.68

Question ID : 26433075202
Status : Not Answered
Chosen Option : --




Q.22 0 =135° y=15°.
2 cos(8) sin(y) T A FT 8?2

Ans
3-1
X1.J_

X2 2—43
X3 43-2
1-+3

2

o 4

Question ID : 26433061335
Status : Not Answered
Chosen Option : --

Q.23 gfd 4(z +7) (2z-1) = Az2 + Bz + C §, W A + B + C BT UM FId B
Ans X 1.74

& 2.32
X 3.28
X 4.81

Question ID : 26433076344
Status : Answered
Chosen Option : 2

Q.24 5], G 3N AT SIET-3ET Teh BT B HHI: 20, 30 3R 40 fa= & X1 HT qPa T
19 A e & ug o0 W B Tl 8, UG YA A IR $Rd §T, YAd 3N fa=ma
BRI UHiaR fe=1 & (ugd e giter ofk g 1o fammen) Swast weruan &t st 82

Ans

_ 3
> O e o, [
5

_ 1
N 23—
20

1
X333
20

v 123
5

Question ID : 26433075572
Status : Not Answered
Chosen Option : --




Q.25 = <t 7 arfereT 5 At e & & oS &t g @1 awfdt 81

ftd | A | B
HlAGIL | 85 | 130

ERELL 76 90
RIRTIES 45 | 102

YFAX | 95 | 86
offerarT | 110 | 48

Tt uTa fo & A 94T B F1 $a1 P & o9 &7 3R T 82

Ans 7 1.45
< 2.55
< 3.50
K 4.35

Question ID : 264330105753
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.

Hazard
Ans ¢ 1. Protection

X 2. Jeopardy
25 3. Danger
X 4. Peril

Question ID : 26433060434
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the

given sentence. If there is no need to substitute it, select ‘No substitution’.

The rate of interest for the loan went out all our calculations.

Ans X 1.under all our calculations
25 2. No substitution
/< 3. besides all our calculations

«” 4. beyond all our calculations

Question ID : 26433089277
Status : Answered
Chosen Option : 4

Q.3 Select the INCORRECTLY spelt word.

Ans X 1. Mortgage
«” 2. Hygene
/% 3. Champagne
< 4. Bouquet

Question ID : 26433065133
Status : Answered
Chosen Option : 3




Q4

Ans

Select the option that can be used as a one-word substitute for the given group of

words.

Cancel or do away with (a law or agreement)
#< 1. Ultimation

«” 2. Abrogate
/< 3. Prorogation
< 4. Cancellation

Question ID : 26433071927
Status : Answered
Chosen Option : 2

Q.5 Select the correct indirect form of the given sentence. .
Anita said to the mother, “Your child has been crying since morning.”
Ans X 1. Anita told the mother that her child was crying since morning.
«” 2. Anita told the mother that her child had been crying since morning.
< 3. Anita told the mother that her child had been cry since morning.
5 4. Anita told the mother that your child had been crying since morning.
Question ID : 264330104606
Status : Answered
Chosen Option : 2
Q.6 Select the most appropriate option to replace the underlined segment in the given
sentence.
Shyama does not laugh, nor she smiles.
Ans X 1. nor she does smile
< 2. she does smile
#< 3. nor she smile does
«” 4. nor does she smile
Question ID : 26433084737
Status : Answered
Chosen Option : 4
Q.7 Select the correct passive form of the given sentence.
Did he do his mission?
Ans X 1. Was his mission being done by him?

«” 2. Was his mission‘dene by him?
< 3. Was his mission do by him?

/5 4. Had his mission been done by him?

Question ID : 264330104550
Status : Answered
Chosen Option : 2




Q.8 Sentences of a paragraph are given in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A.Dozens of distinctly different regional languages are spoken in India, which share
many characteristics such as grammatical structure and vocabulary.

B.India has had a longer exposure to English than any other country which uses it as a
second language, its distinctive words, idioms, grammar and rhetoric spreading
gradually to affect all places, habits and culture.

C.The historical background of India is never far away from everyday usage of
English.

D.Since the early 1600s, the English language has had a toehold on the Indian
subcontinent, when the East India Company established settlements in Chennai,
Kolkata, and Mumbai, formerly Madras, Calcutta, and Bombay, respectively.

Ans X 1.ADCB
/< 2. DCAB
« 3.DBCA
< 4. ABCD

Question ID : 26433070666
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate meaning of the given idiom.
On cloud nine

Ans X 1. Dreaming
< 2. Flying
«” 3. Very happy
< 4. Floating

Question ID : 26433070800
Status : Answered
Chosen Option : 3

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

An exaggerated statement not to be taken seriously or literally
Ans X 1. Hypocrisy
/< 2. Hippocrates
«” 3. Hyperbole
X 4. Hypertext

Question ID : 26433060866
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.

The weapons which are easily available in the market are a big threat to
the security of some nations.

Ans X 1. heated
o 2. deadly
/< 3. casual
X 4. valuable

Question ID : 26433073794
Status : Answered
Chosen Option : 2




Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
This year, orange prices are forecast to grow, despite an expected increase in global
Ans & 1. production
< 2. assumption
#< 3. abduction

/5 4. organisation

Question ID : 264330104760
Status : Answered
Chosen Option : 2

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She has / not written / a single novel / by three years.
Ans X 1.Shehas

o 2. by three years
75 3. not written

< 4. asingle novel

Question ID : 26433092267
Status : Answered
Chosen Option : 2

Q.14 Rearrange the parts of the sentence in correct order.
The ministry officials
P. recommend the shortlisted names to
Q. the awards selection committee
R. sieve through the applicants’ credentials and
S. have been working overtime to

Ans X 1.QRPS
& 2. PQRS
« 3. SRPQ
< 4.SPQR

Question ID : 264330104653
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate synonym of the underlined word in the given sentence.

The professor refused to comment on the erroneous description of the historical
events in the journal.

Ans X 1. Suitable
«” 2. Inaccurate
2 3. Lucid
/5 4. Sensitive

Question ID : 26433071960
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate synonym of the underlined word in the following
sentence.

lyadurai Solomon was a great teacher because he instilled in all the children a sense
of their own worth.

Ans X 1.neglected
< 2. stopped
25 3. took out
¢ 4. inculcate

Question ID : 26433060805
Status : Answered
Chosen Option : 4

Q.17 Select the option that expresses the given sentence in active voice.

Does she know me?
Ans X 1. Am | known by her?

«” 2. Am | known to her?
5 3. Is she known by me?

/< 4. Is she known to me?

Question ID : 26433072473
Status : Answered
Chosen Option : 1

Q.18 Choose the incorrectly spelt word.
Ans X 1. Contradiction

< 2. Hereditary
#< 3. Abhorrent
«” 4. Condencing

Question ID : 264330104756
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate meaning of the given idiom.
Someone’s heart is in the right place

Ans X 1. Share secret worries with someone else
«” 2. Someone is goodeven if they sometimes behave in a wrong manner
/< 3. Change your opinion or the way you feel

25 4. Suddenly feel'so excited or frightened that your heart beats faster

Question ID : 26433060471
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate synonym of the underlined word in the given sentence.

The wrestler retaliated the blow that he received.
Ans X 1.Forgave

«” 2. Reciprocated
5 3. Welcomed
< 4. Respected

Question ID : 26433071966
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1) many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2) ,
and has received so much publicity, that most people are now (3) about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4) decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still

) with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in the blank 1.
Ans 1. has for

X 2.is for
#< 3. had for
X 4. was of

Question ID : 26433073382
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1) many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2) s
and has received so much publicity, that most people are now (3) about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4) decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still

(5) with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in the blank 2.
Ans X 1.narrow

X 2.rare
X 3. steep
o 4. acute

Question ID : 26433073383
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1) many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2) ,
and has received so much publicity, that most people are now (3) about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4) decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still

) with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in the blank 3.
Ans X 1.affect

o 2. concerned
/5 3. trouble
X 4. involved

Question ID : 26433073384
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1) many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2) s
and has received so much publicity, that most people are now (3) about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4) decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still

(5) with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in the blank 4.
Ans X 1.advance

< 2. probable
< 3. varied

«” 4. consequent

Question ID : 26433073385
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The saving of certain wild animals from extinction (1) many years been a problem for
the zoologists and other specialists; but more recently the problem has become so (2) ,
and has received so much publicity, that most people are now (3) about it. This may
at first seem strange because one of the most gratifying developments of the last few years
has been the passing of strict laws to protect wild animals and the (4) decline in
the hunting of big-game for sport. Why is it then that some rare wild animals are still

) with extinction and even some of the less rare ones are rapidly declining in
number?

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in the blank 5.
Ans X 1.danger

< 2. frighten
< 3. bullied

o 4. threatened

Question ID : 26433073386
Status : Answered
Chosen Option : 2
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